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A 2 0l & A &2 & Al A
20209 = =0la LB A HMSdSW
M HSXESD
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 13,161,660 10,946,397 2,215,263
s 1,150,000
J| 364,664
< 456,715
Al 11,190,281
Mgome R=(SY22/HE) 12,498,877 10,042, 965 2,455,912
s 1,150,000
J| 364,664
< 456,715
Al 10,527,498
HsAE &= 7,351,453 6,007,636 1,343,817
s 1,150,000
J| 114,000
Al 6,087,453
SSHSAE 29 816,949 500,000 316,949
201 Let24d] 8,650 0 8,650
01 At 22l 3,000 0 3,000
OMBATXNE(S7F) A28 7Y
3,000,000& = 14! 3,000
02 232gHl 5,650 0 5,650
OMEBATZIMH(ERE) 2 5,650
—&NIIea 1,000,000& * 33 3,000
—4&otx=k 23 50,0002 * 3& 150
— A4 &4l 7t 500,000& 3= 1,500
— A48 =2 1,000,000& * 14 1,000
401 Al HI L =2 Tl 768,299 500, 000 268,299
01 A& HI 768,299 500,000 268,299
OAMEHUAZ QIXZC] L IA
120,000,000& * 2&H 240,000
OJg2s HOESE =& 3A
100,000,000& * 14 100,000
OZ23MSAME HES 100,000,000& * 14 100,000
O33HMsSAME W 22X 04 10,299
— S HIOIESE(SHAHE =Hel 164-16)
6,774,000& * 14| 6,774
—E23 ZH(FAS 1929-1)
3,525,000& = 14 3,525
OF=ad A= 28 ASUHEX SXE
g4 ZAEY 18,000,000& * 14 18,000
OdetelEel B bt 23 At
300,000,000 = 14 300,000
405 TtHabF S| 40,000 0 40,000
01 AL EFH S 40,000 0 40,000
OMEATIMH(ERE) HIHIS 2 40,000
— &30 2 1,500,000 * 140K 21,000
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R s R SE=an);
HH: HEome FE(SBSL2F/HK)
S MSAE =25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 23 dJIHE #¢ 19,000,000 * 14 19,000
sUXSAE 29 116,960 114,200 2,760
201 Lt 6,960 4,200 2,760
02 =224l 6,960 4,200 2,760
Os2& dlles=s 300,000& = 123 3,600
OQICtAIAHOIER HMIRS
150,000& » 12& 1,800
OMEEX EUXEO0D HIRS
80,000& = 12& 960
ONMd s32& dIIe3 50,000& = 12& 600
401 A& HIZ 201 I 110,000 110,000 0
01 A& HI 110,000 110,000 0
OSUHSAE 2371+ £
2,000,000& * 200 & 40,000
OSUHSAE =& 2517 LA
2,000,000& * 250 A& 50,000
OsUXMSAE 2317 E=
200,000& = 100& 20,000
HFA AU 29 1,474,148 1,425,876 48,272
101 @14 Hl 701,358 570,656 130,702
04 JIZHHZ2XNHEE S 701,358 570,656 130,702
OMU+EE 29 Y 654,558
—Jlzs 68,7203 * 259 x 306 525,708
-5 68,720& * 25% * 60 103,080
— s =8It=Y 68,7203 * 259 » 15¢ 25,770
OHU+2E 28R Hx3
2,600,000& = 18H 46,800
201 2et24d] 611,400 589,000 22,400
01 At 2teltl 88,280 88,280 0
os=28s% A 2,000& » 5,000% 10,000
OdU+gd 85 7& 15,000,000 14 15,000
OaU=g% 4225 £+ 3,000,000& 128 36,000
OztelAtR A AR 22l 5,000,000& = 14 5,000
O&=)| deEz 35,0003 = 5CH » 12& 2,100
odldl gegz 30,000 = 13CH = 12& 4,680
OXEIIE =25 =2 600,000& = 123 7,200
O&U+gE FANE 7
3,000& = 2,0000H 6,000
Og+z ¢88 22X 7Y
300,000& » A 1,800
O=&4 A3 ME 50,000& =« 103l 500
02 =224l 523,120 500,720 22,400




M HSTED
M Mgt 2H(2LZH/MK)
S MSAE =25 (&)
SA - ZE-B(EA) - NRAY - B S il &t o il 2t
O3 & HA 406,000
—dIIR=a 10,000,000& = 12& 120,000
—&ot=E 23 10,000,000& * 12& 120,000
—tAR= 550,000& * 25 » 12& 165,000
—=2(ELHBAMS) 1,000,0008 » 14 1,000
O&IIANE SR el 850,000& = 12& 10,200
OSZJIAE SA2el & 200,000& = 128 2,400
O2AE SA2el 400,000& = 12&€ 4,800
OAAE SEHLEH 1,500,000 * 13| 1,500
OLYANE HSIsES 1,500,000& * 13| 1,500
ORAMES A2l 400,000& = 123 4,800
OAU#=YE HIANE S22
1,000,000 * 53| 5,000
OaW==gZ JIHANE RANE=>
1,000,000 * 53| 5,000
OaUl+=gd &= 500,000& = 63l 3,000
OCCTV = X2 2ldl 300,000& = 16CH 4,800
OREes AIER 20,000 = 23CH = 12& 5,520
OANE(=HMelANA2ES) XUl
1,000,000& * 128 12,000
OEge M2 3,000,000& = 14 3,000
OMW4ZE 23 HA 1,000,008 * 23] 2,000
OM+YE H2BY
2,000& = 23| = 5,800m 23,200
OAUW=g& oz 32 EY
5,000,000& = 14l 5,000
Osssla@al L NOEBAANLY SN+ 8,400
~EHSHBANAY SNLS 2
400,000& » 128 4,800
—HOIE2ACIAMNAE SXE=+
300,000 * 123 3,600
OCdUi+=3d MSAEL HdHY2LE It
15,000,000& 14 15,000
206 M= tl 14,500 14,500
01 MHZ 4l 14,500 14,500
O&EILIJIAH EH A28 2¢
1,000,000 = 33l 3,000
Ox=&2cl& PHEZERM &  500,000& = 62l 3,000
O=zzel8 8&H ¢ 500,000& = 63l 3,000
Oz E LSH(ELE) 2
500,000& = 63l 3,000
O3+ & Hgex ¢ 500,000& = 53| 2,500
301 etEd 3 97,890 96,720
1224 = 97,890 96,720




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
S MSAE =25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CaU=sgd T2 29 2ZAE 97,890
—2Jt ZAE 30,000& = 33| = 251 22,590
— ZetHl A ZAlE 30,0003 * 33 x 251 22,590
—Alld ZAE 30,0003 * 33| » 251 22,590
—OtR0t28 ZA=Z
60,0003 * 23| » 251 30,120
401 AIEHI L 2] 40,000 130,000 290,000
01 A& Hl 40,000 130,000 290,000
O==Jl 24 uH 10,000,000& * 14 10,000
OUW=g& Al RA E= 30,000
—4YY(SAMES) NEE RX 24
20,000,000& = 14 20,000
—g2AH ANEE RA E=
10,000,000 * 14 10,000
405 Xt&tE SHI 9,000 25,000 216,000
01 AL EFH S 9,000 25,000 216,000
OaU=g& &= ¢ 200,000& = 20CH 4,000
otsddsa 28 e 235 7Y
5,000,000& = 14 5,000
et=dsadd 24 163,396 457,560 A 294,164
201 £Br2%| 142,020 178,760 A 36,740
01 At 22/l 19,200 18,000 1,200
Olfst=dzgd 2258 72¢
1,000,000& = 12& 12,000
OXEIINE =2H =2
30,000& * BIHAL = 6& 1,440
Olst=4dEed =54 727 ME
30,000& = 2MIE » 124 * 83 5,760
02 =224l 122,820 160,760 A 37,940
OXIIRS 4,000,000& = 12& 48,000
OEAIAE 23 800,000& = 12& 9,600
Odot=& 23 300,000& = 12& 3,600
O&FII &l M2 =2
880,000& = 12& 10,560
OAged 2 =2
400,000& = 12& 4,800
OLYgAE SSHEL FZ 1,500,000& * 12l 1,500
Oagdd &sJIs83 1,500,000 * 13l 1,500
OS&ZIIAE SA2eltHad  200,000& * 128 2,400
Olist=4dsdd =83 4
1,000,000 = 23l 2,000
OHg=4d=2dd o= 500,000& = 63l 3,000
OA&EHl Sl 500,000&  12& 6,000
OHEALEY 2,000& = 23] = 4,500m 18,000
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R s R SE=an);
HH: HEome FE(SBSL2F/HK)
S MSAE =25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OREdYs MER 35,000& = 1CH = 12& 420
Osdes 120,000& » 12& 1,440
OUS=SAERT o021 84 89
5,000,000& = 14 5,000
OUTBEA =25 (SHI|, BELHES)
5,000,000& = 14 5,000
206 M= Hl 1,376 0 1,376
01 M= 4l 1,376 0 1,376
O3+ & &gz 2¢ 300,000& * 43 1,200
OHI4ZEI 27 L (FS) 1,308 * 130L 176
401 AIEHI L 201 20,000 100,000 280,000
01 A& Bl 20,000 100,000 80,000
OHest=4d=adE NE28 R
20,000,000& = 14 20,000
(FNAEZ=ZEAA LAY 3,800,000 1,650,000 2,150,000
s 800,000
Al 3,000,000
401 AIEHI L 2 CHYI 3,800,000 1,650,000 2,150,000
s 800,000
Al 3,000,000
01 A& HI 3,800,000 1,650,000 2,150,000
OAZXZEAA TYER U JBEAL
3,800,000,000& * 14 3,800,000
s 800,000
Al 3,000,000
()L SSNYEHSAE =4 600,000 0 600,000
s 350,000
Al 250,000
308 XXIEHH SO0l A 600,000 0 600,000
ras 350,000
Al 250,000
08 WISt E=x 600,000 0 600,000
OZ&=stn MEXNSAE LAY
600,000,000 * 14| 600,000
s 350,000
Al 250,000
(DNEEIMESALE HE = 380,000 0 380,000
J| 114,000
Al 266,000
401 Al HIZ 201 8] 380,000 0 380,000
J| 114,000
Al 266,000
01 A& HI 380,000 0 380,000
OMEEX HSAE HE=
380,000,000& * 14! 380,000




2A4: MEIEDL
H: oD E(2YBZ/AR)
e HSAE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 114,000
Al 266,000
Hssd =4 5,147,424 4,035,329 1,112,095
J| 250,664
= 456,715
Al 4,440,045
AF=ANHM=EISH 214,526 158,569 55,957
307 212t0| & 214,526 158,569 55,957
03 QIZIH P AESIHIEX 214,526 158,569 55,957
OYZ=ANEE 2IF(BEXTE HAH)
214,526,000 = 14 214,526
AE M 105,070 77,500 27,570
101 e1214| 14,570 0 14,570
04 JI2ZtHI22XNHEES 14,570 0 14,570
O&XE2d KX ¢ 23 U3 =& 14,570
-Jl2a 68,720 * 1¥H = 180 12,370
- =549 68,7208 * 1% * 263 1,787
— RS EIISE 68,720 * 1H » 6 413
307 QI2t0| & 90,500 50,500 40,000
02 Q2B AMAIE E =X 80,000 40,000 40,000
OMUYRAaHL AJNRE (4,24, §
A)(BXES HAH) 50,000,000 * 14! 50,000
OHEEM=2 HAEEZHH MOESEH NS
10,000,000& = 14l 10,000
ONXNES S ASAFS 20,000,000 = 14! 20,000
03 IZEY P ESIHIEX 10,500 10,500 0
Ost=a=A0Y 29 NA(2ES FH)
10,500,000& = 1A 10,500
ZOHCIME K& 82,100 74,940 7,160
301 et M= 6,100 3,940 2,160
09 HAIAHI XIS 2 3,940 3,940 0
ONd=&HMAM=UZ =FILAH 48]
90,000 = 16 1,440
OXel==dgstia &8 & ol
500,000& * 585 = 2,500
12 J|EtE2 A= 2,160 0 2,160
OZjeIZZ2 ) 29 A2
30,000& = 83| x 9& 2,160
307 QI2t0| ™ 76,000 71,000 5,000
02 QI2tAAMAIE E X 16,000 16,000 0
OZ0HQ! BHEQIE WA 29
11,000,000 = 14! 11,000




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O&OMIH 258 20 2
2,500,000& = 2CH 5,000
04 SIZ2ISHAAISH E & 60,000 55,000 5,000
OHM22a ZE-XHMOMSUHE sNHBH(EX
s M) 45,000,000 = 13| 45,000
OHN4s dF=HMH DS d=2H0MBIS U3
15,000,000& = 1A 15,000
A= AQH SO Z X & 435,200 426,000 9,200
307 2Iz2t0| & 435,200 426,000 9,200
04 SIZ2HSHAAISH E & 435,200 426,000 9,200
OHM41e =AM EUHE HABH(EXZ8 A
oK) 141,000,000& * 13| 141,000
OHM418 Ed=ACHEUHE SB=E XN (BEXES
A oH) 247,000,000& = 1A 247,000
OHM418 Ed=ACHEWHE =EnsEst A (E
XE HW) 40,000,000 * 14! 40,000
OHM4ls =A2HsUE &I S = X
7,200,000& = 1A 7,200
A=ECUNSUHIEIOINA 320,000 310,000 10,000
307 QI2t0| & 320,000 310,000 10,000
02 QI2tAMAIE E X 290,000 290,000 0
OHMB5B8s ZET2IMEWa 2otFH(BEXxg &
oK) 290,000,000 = 1A 290,000
04 SIZ2SHAMAISHE E X 30,000 20,000 10,000
OHM58g HEZUHESUHE =E=2¢ ME(SX)
Ayl 30,000,000& = 14! 30,000
ANEIIESSEMSUHS X 90,000 90,000 0
307 QI2t0| & 90,000 90,000 0
04 CIZ2tSHALALS B X 90,000 90,000 0
OAIZED =28 AHSUHE HE NJA(BEXg F
o) 4,500,000 = 20&=<= 90,000
stHEsS&ENd 273,600 255,600 18,000
307 QI2t0| & 273,600 255,600 18,000
02 QIZ2IA AAIE E X 255,600 238,600 17,000
Oostuid=sotel 4 50,000,000& * 14 50,000
OHMEEI=E=2 84 U FUA=E=2 24(EXE
o) 122,000
—EJE=2 3,000,000& x 10&= 30,000
—FA=ES 3,000,000 * 10&= 30,000
—HEHNsSE=2 s4d(84 5)
62,000,000& * 14 62,000
OFALXANY SH(EXE8 HNW)
50,000,000& * 14! 50,000




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oftness dg=x 250 A d
200,000& = 149¥ » 123 33,600
04 DIZHHALALSE E X 18,000 17,000 1,000
OZ=8g 2 dsUs HIZH(Ex8 2Y)
1,000,000& * 103l 10,000
OHMb578 ZSEEFH=EUE &It N (BEXE
o) 8,000,000& = 13l 8,000
deEdNslctasidE 6,000 5,000 1,000
307 gl2tol & 6,000 5,000 1,000
04 DIZHHALALSE E X 6,000 5,000 1,000
OMENESXEXH A &I X
1,200,000& * 53] 6,000
ESEUHIFIHZHI X 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 DIZHHALALSE E X 60,000 60,000 0
OZE=4Y M=U3 &It Z2Hl N
375,000& = 40&5= » 43 60,000
NESSELUHI X 17,500 17,000 500
307 21201 A 17,500 17,000 500
04 QIZFHALAIH B = 17,500 17,000 500
OAl NE& dgial Nzl X3
6,000,000& = 13l 6,000
O N2 dgia &It X3
9,000,000& = 13l 9,000
O&= M2 dgia ot N3
2,500,000& =+ 13l 2,500
H=2LECAMSHSE HEXA 102,000 81,500 20,500
201 Lt 2,000 1,500 500
01 At 22l 2,000 1,500 500
O&=Uza | =2 M=
50,000& = 5& « 43| 1,000
Od=2U3 %X 2= M 500,000& * 22 1,000
307 21201 A 100,000 80,000 20,000
04 QIZFSHALAIR B = 100,000 80,000 20,000
O&= 2 &9 Hsds sx(exs FYd)
100,000,000& * 14 100,000
ANHEAZHI S HEHSUE X 20,000 45,000 225,000
307 21201 A 20,000 45,000 A 25,000
04 QIZFHALAIH B = 20,000 45,000 225,000
OXNMEAN=E dHUSHNSUHE IOt 4l X
2 20,000,000& * 13l 20,000
MEXNsUHISHIR 175,000 170,000 5,000




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
307 2Iz2to| & 175,000 170,000 5,000
04 SIZ2ISHAAIH E & 175,000 170,000 5,000
02020 EFAl -2l (g&EAY) =203 KA
(EXxs8 HN) 50,000,000& * 13| 50,000
02020 22028l #H(EXg A
oK) 25,000,000& * 13| 25,000
OHM30s HEZIMEHEUE ##IH(EXE A
oK) 100,000,000& * 13| 100,000
ASTAZ2Z2I S X & 20,000 20,000 0
307 212t0| & 20,000 20,000 0]
04 SIZ2ISHAAISHE E X 20,000 20,000 0
OAlQl A22ZIIUHE M= K&
20,000,000& * 13| 20,000
A2 AsF2UI XA 12,000 12,000 0
307 QI2t0| & 12,000 12,000 0
04 CIZ2HSHALALS B X 12,000 12,000 0
OZ=c2 XNgdsd s3] H=AE
10,000,000 = 13| 10,000
OZec 268 =323 &I Yl NE(BX
= dNH) 1,000,000 = 2 2,000
AF=ZEI|CMHIM =S X 97,300 100,000 A2,700
307 QI2t01 ™ 97,300 100,000 A2,700
04 CIZ2tSHALALS B = 97,300 100,000 A2,700
OHM133 SF=ZE)|0lat MEHNSSSUZTH
=303 24.,000,000& * 13| 24,000
OHM133 AF=ZD|04H B2ESSQ2 HOolEEZ
CHal 30,000,000& * 13| 30,000
ONB83 HF ZJICUMEA =232 NEUH
3| 19,000,000 = 13| 19,000
OHM433 F=ZJ|0aH =253 & 0l
HLIACHS 24,300,000& * 13| 24,300
MEHSAEHNHS XA 70,000 55,000 15,000
307 2iz2to| A 70,000 55,000 15,000
04 OIZ2tSHAFALS B = 70,000 55,000 15,000
02020 =AU XEAHEIIITHE 4=
10,000,000 = 13| 10,000
OHMB8sl &2t DetES I &l
60,000,000 = 13| 60,000
OISR EZ2SO0IAIEE E=Z2AI0IZ2THE 70,000 70,000 0
307 2Iz2to| & 70,000 70,000 0
04 SIZ2SHAAISH E & 70,000 70,000 0




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
_ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OM223 =0MSEIEZSE OIAFEEN 8= ALO|
203 & 2020 OFAHEX EFE0 M=
70,000,000& * 13l 70,000
Hd=2Z2E 3 X & 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0
04 CIZ2tSHALALS B = 20,000 20,000 0
OHM33 HHISssHIE 20203
20,000,000& * 14 20,000
A=2J0r2UE X & 5,000 5,000 0
307 2iztol & 5,000 5,000 0
04 CIZ2tSHALALS B = 5,000 5,000 0
OZ=2 NG F=Aasiae| ] or2
3| 5,000,000& = 1Al 5,000
H=2ERHS XS 10,000 10,000 0
307 2iz2to| & 10,000 10,000 0
04 SIZ2ISHAAISH E & 10,000 10,000 0
OHM73 &=2H =222 2X=EZ2US
10,000,000& = 14 10,000
2= XS 50,000 45,000 5,000
307 2I2t0| & 50,000 45,000 5,000
04 SIZ2ISHAAISHE E X 50,000 45,000 5,000
OHMI173 S=AIEI|ED 2= MHE X
A(EXg FH) 50,000,000& * 14! 50,000
MIZHECIEHHS XS 20,000 0 20,000
307 212t0| & 20,000 0 20,000
04 CIZ2tSHALALS B X 20,000 0 20,000
OHN253 BAECXIAD MEHNS BHESIEHH
3| 20,000,000 = 14! 20,000
AFAE A UG XH 30,000 30,000 0
307 QI2t0| & 30,000 30,000 0
04 CIZ2tSHALALS B = 30,000 30,000 0
02020 SFAMaE A HE M=l XS
30,000,000 = 14 30,000
MEH=ETESISH 50,000 55,000 5,000
307 2iz2to| A 50,000 30,000 20,000
02 QIZFA AAIE E X 50,000 30,000 20,000
ONEHE Z2Y SN
1,000,000& = b== « 10& 50,000
Ol 2=01& & My 29 190,000 0 190,000
201 LBt 20,000 0 20,000




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
02 2224 H| 20,000 0 20,000
O23d ot S=0& 29 20,000
— &I Rea 5,000,000& = 1& 5,000
— MO ERE 15,000,000 = 1& 15,000
307 QI2t0| ™ 170,000 0 170,000
02 QI2tAAMAIE E =X 170,000 0 170,000
O23d OtdE=018 29
140,000,000 * 14! 140,000
ONHE SSHIYE 2 30,000,000 * 14 30,000
AFTALXZEYH SA(ZIIAEXE) 20,000 20,000 0]
307 2I2t0| ™ 20,000 20,000 0
03 UAHHEESIHES 20,000 20,000 0
O8xFALIXZ2Y 29 20,000,000 * 14! 20,000
(2 2AMESHESXEX X (BSXHX) 115,872 107,232 8,640
J| 57,936
Al 57,936
307 2Iz2t0| A 115,872 107,232 8,640
J| 57,936
Al 57,936
02 QIZFAAAIE E X 115,872 107,232 8,640
OAlZ0z4a MEd s X S A B X
28,968,000 = 4H 115,872
J| 57,936
Al 57,936
(Z)LBIMEN SRS BRI (B2SXH) 222,088 160,848 61,240
Jl 111,044
Al 111,044
307 212t0| & 222,088 160,848 61,240
Jl 111,044
Al 111,044
02 QIZFA AAIE E X 222,088 160,848 61,240
OANZMEN S K =X BHX
222,088,000& = 14 222,088
J| 111,044
Al 111,044
(Z)HOHMEH SIS BEX 28,968 0 28,968
Jl 14,484
= 4,345
Al 10,139
307 212t0| & 28,968 0 28,968
| 14,484
o= 4,345
Al 10,139
02 DIZHE AAIRE E X 28,968 0 28,968




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ON=ZZohel BEAM=AC A 61X
2,414,000& » 1H 128 28,968
J| 14,484
< 4,345
Al 10,139
()2rEZ=2H0182 XA 96,000 96,000 0
J| 67,200
< 8,640
Al 20,160
307 glz2tol & 96,000 96,000 0
J| 67,200
< 8,640
Al 20,160
05 RIZHRIE 3 96,000 96,000 0
OAZ=2H0EA K& 96,000,000& = 14 96,000
J| 67,200
= 8,640
Al 20,160
(ENBHNBSSZIZSEN 1,300,000 1,170,000 130,000
< 156,070
Al 1,143,930
307 glz2+ol & 1,300,000 1,170,000 130,000
< 156,070
Al 1,143,930
02 HAFHAANFEE 1,300,000 1,170,000 130,000
OMUE (S, 24 ,24) 54 X8
1,300,000,000& * 14! 1,300,000
< 156,070
Al 1,143,930
(DN ZMEHMEXN AW SH XA 14,400 12,000 2,400
< 4,320
Al 10,080
307 glz2tol & 14,400 12,000 2,400
< 4,320
Al 10,080
02 QIZtE M AMHEE 14,400 12,000 2,400
OMEMESXNEX naEdl XA
100,000& = 128 = 123 14,400
< 4,320
Al 10,080
(S)ZHAMEN SN S SH X2 1,200 0 1,200
= 360
Al 840
307 glz2+ol & 1,200 0 1,200
< 360
Al 840
02 It A AMHEE 1,200 0 1,200




2A4: MEIEDL
Y HSUDY TE(2JLVTL/HS)
e M=sgd x4 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OXMNMEMNESNEAL WSH A
100,000& * 1¥ = 123 1,200
& 360
Al 840
(S)MSHSNEK X 7,800 7,340 460
== 2,340
Al 5,460
307 2Iz2t0| & 7,800 7,340 460
& 2,340
Al 5,460
02 DIZFEAAIRE E X 7,800 7,340 460
OMENSXNEX 2542 XA
7,800,000& = 1A 7,800
= 2,340
Al 5,460
(DM sna2did 28,800 28,800 0
= 8,640
Al 20,160
307 S12t0| & 28,800 28,800 0]
= 8,640
Al 20,160
04 SIZ2HSHAAISH E & 28,800 28,800 0
OMeEtiisna (&2, HUA ) 249
28,800,000& * 14! 28,800
== 8,640
Al 20,160
(E)Y =L A0HE TSI HEI X 2 237,000 240,000 £3,000
= 27,000
Al 210,000
307 212t0| & 237,000 240,000 A 3,000
o= 27,000
Al 210,000
04 SIZ2ISHAAISH E X 237,000 240,000 A 3,000
OGF=AAOI2HEW S 237,000,000& = 14l 237,000
= 27,000
Al 210,000
(E)PSSXAD BHEETHE HE X 60,000 0 60,000
< 30,000
Al 30,000
307 2iz2to| A 60,000 0 60,000
= 30,000
Al 30,000
04 QIZ2tSHALALS B X 60,000 0 60,000
OHM328 HASZ=XAIIEIAZUZ HE
60,000,000 * 14l 60,000
& 30,000
Al 30,000




R s R SE=an);

HH: HEome FE(SBSL2F/HK)

@4 Ms8d x4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
() =HHIHEI B2 U3 60,000 0 60,000

< 10,000
Al 50,000
307 gl2tol & 60,000 0 60,000
< 10,000
Al 50,000
04 DIZHHALALSE E X 60,000 0 60,000
OHM2sl =Ml &2 SHUHFAUE
60,000,000& = 14 60,000
< 10,000
Al 50,000
(D)EIME2L X2 10,000 0 10,000
< 5,000
Al 5,000
201 Let249H] 10,000 0 10,000
< 5,000
Al 5,000
03 A2 S HI 10,000 0 10,000
OHM101e =M H M408 &=ZO0HAHA
dotEE 10,000,000& * 14 10,000
< 5,000
Al 5,000
(D)EIMBAILEAEY 400,000 0 400,000
< 200,000
Al 200,000
402 RI2EX20| M 400,000 0 400,000
< 200,000
Al 200,000
02 2IZI 2 AL EZ (01X TH ) 400,000 0 400,000
OrssEd ZIE WL
400,000,000& = 14 400,000
< 200,000
Al 200,000
ANolzsdze (222 /=) 517,817 773,208 A 255,391
SO SHE 22l 103,882 140,740 236,858
I0XSHEH AlE 22 97,882 134,740 A 36,858
101 @124 dl 9,622 12,024 A 2,402
4 D12t ZE2XREES 9,622 12,024 A 2,402
O=0N=s4dH 233U 8,247
—Jlas 68,7203 * 29 » 60 8,247
OsF& 33l 68,7203 * 2H » 10& 1,375
201 et 37,260 57,716 A 20,456
02 232gHl 37,260 57,716 A 20,456
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M HSUED
. ANo2sEac(2se2E/As)
S MSAL2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 261,394 258,130 3,264
OdelHole sX2el
220,000& = 204 ~ 123 5,280
O2AE SEFLEH 1,000,000& * 5 5,000
OAAE HSIIs&Z 1,000,0008 = 54 5,000
OLYAE HERA 2l
125,000& = 50 « 12 7,500
OLYAIZ&H RR&2 1,800,000& * 14! 1,800
OYsAE RAE=> 2,400,000& = 14 2,400
OxFgJ&d dze 2F WA 500,0008 » 55 2,500
O&JI&Hl 23 uA 100,000& * 208 2,000
O4d3 & s X2el 1,000,000 * 14 1,000
O4dstth A=zl 2,0002 * 2,000kg * 2 8,000
Odda=a B9 AZHI(AUER)
9603 = 2,7004 = 43 10,368
O HEY DAIHI| |22
1,000,000& * 14 1,000
OXd+ AN & dFH2e
4,500,000& = 13l 4,500
O2sd = s 2HIJ &
3,000,000& = 33l 9,000
Ot 4 F==tf2 2tel 200,000& * 44l 800
Odsleas & 2ERI 150,000& * 12& 1,800
OIS (gerng) 12,900,000& * 12& 154,800
OIS (MOHEH) 900,000& =« 12& 10,800
OXIRB(INHES) 45,0004 = 123 540
OIS (L) 60,000& = 12& 720
O&JI&Hl EI1&A 1,500,000& * 12l 1,500
ot ER3 1,900,000& * 12& 22,800
OAEetdE 3t 50,000& = 13l 50
O&g =0l A3l 100,000 * 13l 100
OfEa&2 X A3 36,000& = 13l 36
OXItE HIILHl EII& A
2,000,000& = 14| 2,000
Odsith 282 100,000& * 13| 100
206 T2 HI 3,670 3,670 0
01 =8l 3,670 3,670 0
F=JJ|E 0228 27
10,000& * 100% 1,000
OF&J& 228 s47¢
12,000& * 38 = 2004 720
OAdze &7 2 10,000& = 30& = 33l 900
O&lRIIEs 20+ 700& * 250% * 68 1,050
MEHSAE 2 138,091 359,888 N221,797




FAM: HEdsh
Y AN2sdEE(2LAZ/ASK)
S MSAL2 (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 14 Hl 31,751 24,048 7,703
04 JIZHHZ22XREES 31,751 24,048 7,703
OAgI2ESZ 33l 31,751
—Jl=s 68,7203 * 2¥ = 180 24,740
-5 68,7203 * 29 » 41« 5,636
— s =ssIt=Y 68,7203 * 28 x 10g 1,375
201 Let24dy] 13,340 29,740 216,400
01 At 22/l 4,860 1,260 3,600
OANE2SE B30 7¢
70,000& * 38 * 63 1,260
OMSAE 229E AS8E ¢4E 29
1,200,000& * 3JH £ 3,600
02 8323l 8,480 28,480 220,000
OMaxsa MILH RANE=>
1,500,000& =* 23] 3,000
OdE=s2 JIAH, 2 22
1,000,000& * 14 1,000
OdEdsa 25 &Y 1,000,000& * 23| 2,000
O&¥stx #E4 12,000& * 40m’ 480
OANEI2SE A== A 22
2,000,000& = 14| 2,000
401 A& BIZ 201 8] 93,000 136, 100 243,100
01 A& HI 93,000 136, 100 A 43,100
O=ZJI&¥ HHE 6,000,000& = 14 6,000
OFAIIE BUHD L 24
6,000,000& = 14 6,000
OHUAR LEDZ=ES AX
1,500,000& * 245 36,000
OANE2SE A2 RAE=S
10,000,000& * 4J0H 2 40,000
OSJHE3& ANEE RANES
5,000,000& = 14 5,000
HY2IZH (MSEED)(IIEH/IIEL) 144,966 130,224 14,742
JlEZl 144,966 130,224 14,742
JlE2zl 144,966 130,224 14,742
201 Let24d] 61,506 59,184 2,322
01 At 22l 61,506 59,184 2,322
OSAMEXN 2L 15,000& = 199FA « 123 3,420
OS20A | 7,000& * 64 = 199 » 123 9,576
Ogtx=2 100,000& » 12& 1,200
OAL72 EAFLLI 50,000& = 12& 600
OaLna2=4Hl 9,180
— S AMI| =2l 500,000& =« 2CH 1,000
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R s R SE=an);
H: HHE2IAH(MSIED)(IIEHIIE)
el Jl23dl 9 )
S B G(SA) - NRANY - BES il 2
— ZEH =2l 100,000& * 4CH = 50/100 200
— =2AI EU 200,000& = 53 = 304 3,000
— OBH EU(S%) 200,000% * 53 = 304 3,000
—ZeglH EUu(Zat) 200,000& * 53] * 104 1,000
—PC =¢cl 100,000 * 19CH = 20/100 380
— JIEt =24l 50,000& = 12& 600
OJIEH AR 22|l 5,000& = 19% = 128 1,140
o=l (A A2 36,390
— YR (AR ) 60,0009 » 1 * 1152 6,900
— S (MR ) 30,0009 * 1¥ * 251 7,530
— = (AU ) 60,0009 = 128 * 3662 21,960
202 O4dl 78,660 66,240 12,420
01 = LH 4 Hi 78,660 66,240 12,420
Ol 20,0002 = 19 * 128 * 123 54,720
O&2 ™o dl 90,000& = 19 = 14 23,940
203 22 % b 3,600 3,600 0
04 FENSEHR=LH| 3,600 3,600 0
ORN2EYS =2 300,000& * 123 3,600
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXNHMSHRL-HIH (HNSHUENE)
100,000& = 198 = 128 1,200




